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7524 R 8,000 R7
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922.4 461.2 0.5
V=1,900 5 7 5 7 659.2 659.2 659.2 625.9
- 3 3 3 3 1187 1187 1187 106.8
543 6 7 6 7 67.6 67.6 67.6 67.6
845.5 845.5 845.5 0.0 800.3
2/ 3 7 3 4 54 54 3.6 18 3.6
17/ 5 7 5 7 26.0 26.0 173 8.7 173
2/ 3 7 3 4 7.2 7.2 48 24 48
13/ 5 7 5 7 150 15.0 100 5.0 100
18/ 5 7 5 7 6.9 6.9 4.6 23 4.6
- 3 7 6 7 170 170 170 170
- 3 7 3 7 6.6 6.6 6.6 6.6
- 3 7 3 4 129 129 129 108
) - 3 7 3 7 294 29.4 29.4 29.4
- 3 7 3 7 139 139 139 139
4 / 3 7 3 4 6.2 6.2 4.1 2.1 4.1
1465 146.5 1242 223 1221
0 0 0 0 0]...
(A+B+C) 922.4




1.75ha R3 R7
[
22.5ha H14 R18 22,000.0
17ha H29 R3 15,700.0
L=120m R6 R6 40.0}
175ha H26 R7 3122
21ha H22 R7 265.0
H22 R7 1248
H18 R7 129
H22 R7 0.8
H22 R7 1.0
175ha R1 R7 20.0}

38,476.7]
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